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Third Year (T.D.C.) Science Examination, 2018

STATISTICS
Paper—III
(Theory of Sample Surveys and Vital Statistics)

Time Allowed : Three Hours
Maximum Marks : 50

PART - A (@us-37) [Marks : 10
Answer all questions (50 words each).
All questions carry equal marks,
Tt W e ¥ | S e s e v 1R 7 | |
Tt e F i wuE £
PART - B (@ueg-7) [Marks : 25

Answer five questions (250 words each).
Selecting one from each unit. Al questions carry equal marks,

mmﬁw-@mﬁmwﬁamaﬁmu

W% TR HI I 250 VST 31fYeR 7 2
Tt g F i wEE ¥
PART - C (@uz-7) [Marks : 15
Answer any two questions (300 words each).
All questions carry equal marks.
1% W HIC | TP T T IR 300 V=l | Siferer 7 2
Tt gl F i wEE ¥
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PART - A

(@ue-37)
. Answer the following : '
Frefafaa & st
UNIT - I
(gTE-1)
(i) State the basic principle of sample survey.
eyl gHHe & o fagTl i o hife |
(ii) Write the types of sampling.
gfeere & FehRl ! ferfed |
UNIT - II
(gTE-11)
(iii) What is a simple random sample ?
e Sfae wfiesl =1 €2
(iv) Define stratified random sample.
wfia Sfers =@ =l gl =ifsm)
UNIT - III
(geRTs-1I0)
(v) Define cluster sampling.

T3 Wiaea &t gt s
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(vi) Define two-stage sampling.

ﬁmﬁagﬁwaﬁwﬁmaﬁma
UNIT - 1v
(3T3-1v )

(vii ) What is Systematic sampling ?

G FfcrerTT w9 32

(viii ) State the condition in which ratio estimation is more
efficient than SRSWOR estimator. 7
39 feafq o mﬁmaﬁmmﬁwﬁ@m—w,

ﬁmwﬁwm%méauﬁwmﬁmmw
g1

UNIT -V
(3F1E-v)

(ix) Whatis stationary population ?
TR STHEAT 4 #7

(x) What s vita] index of population ?
S U Yol 31 &

3183/430 3

PTo.




PART - B
(@us-9)
UNIT - 1
(grE-1)
Discuss the basic principles of a sample survey. S

whyest waeror 3 snuRe fagTil o fereer S |

3. Describe how sample surveys are conducted. 5

wfereyt gaem 4 fFd s €, 9ol S
UNIT - 11

(gTE-11)
4. Give the definition of simple random sampling without

replacement and in the usual notations prove that : 1+2+2

—

E(y,.)=3’~

i VAt

mwwmﬁqﬁﬁmﬁwﬁwaﬁqam
%fg dhal # fag wife f& :

SZ

E(-J-;n) =;N
! V(}',,)=(NJ;") 5
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S. Show that the variance of estimate of population mean in
stratified samplign with proportional allocation is less than that
of simple random sampling, 5
Wi F R st dean awﬁ wWRA TRr=a= gry e

mmmmwmmmmmaﬁ
3T9&T H9 BT ¥ |

UNIT - II1
(¥T-111)

6. What is cluster sampling ? Obtain the unbiased estimate of
population mean and its variance by this method. 14242
@wuﬁaﬂqw%?wﬁﬁ:ﬁwwmmﬁm
SIhTh AT SHHT THT J1q FfST |

7. Explain two stage sampling with its usefulness, 5
fe=n st 1 so% wrrl whieq THE |

UNIT - IV
(FFE-1v )

8. Explain the ratio method of estimation and obtain its bias and
variance to the first order of approximation, 14242
mqaﬁaquﬁﬁqﬁamamwaﬁ AR 3k T
VoW Fife F WhtreT 7w frapfer |
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9. What is two stage sampling ? Explain with examples. Why is
it looked upon as a case of incomplete stratification ? 1+1+3
fexata wieraraa == €2 Seevil afgd aHesd | 39 Y0l wR)U

F @ A S S g 2
UNIT - V

(FTE-V)

10. Explain crude and standardised death rates. In what way is
standardised death rate superior to érude death rate '7 1+2+2
SAqRsha a9 WA Fegedl i wHesd | wHiftes o e
TR | TR a%ﬁ;“& 98 77

11. What do you understanld by life-table ? On what assumptions
its construction in based ? 5
e ot a7 T 2 TEE T e el W
e &2
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12

What are the points which need Special attention at the
planning stage of sample surveys. Explain clearly.
Wﬁﬁeﬁﬁm,ﬁ%wﬁaﬁmmaﬁmmw
%W?@%ﬁ%ﬂﬁ%lmmﬁm@a

UNIT - 1
(3TE-11)

13. Discuss different allocations in stratified random sampling
alongwith their efficiencies with SRSWOR.
Wﬁawmﬁﬁfwﬁwﬂﬁﬁéwammaﬁ
ST TETAT BT g SRSWOR # =ifsm

UNIT - 111
(3=TE-111 )

14. Prove that efficiency of cluster sampling relative to simple
random sampling is approximately equal to m,
where symbols haye their usual meanings.
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18.

16.

mmﬁ@uﬁ?ﬂﬁﬁmwmmﬁaﬁ
1

o @ )P ¥ arer § ) 7el A T whd

feafifea €1

UNIT -1V
(zwE-1V)

Explain Regression method of estimation of estimation. Obtain
estimate of population total and variance with this method. Also
compare this method with simple random sampling method.
Wﬁwmﬁfaﬁmﬁmnwﬁﬁ:mquﬁ
m%wmﬁmlwﬁfuﬁwa@mw
fafy § gor +f SIS

UNIT -V

(3H13-V)

What are th;a different measures of fertility ? Which measures
will you use for comparing the fertility conditions of two
countries and why ?

e A e g ¥? fa Q3w IR
WmﬁmmﬁHmmmﬁ IR F?
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